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Mohit.. 18 hours ago

Thank-you Sir for this very Amazing and Magical Class Session..
And

My Answer for today's Homework is-

Option B == 4% loss.

As,

Cp MP Sp.

100% 160% 96%.

100 - 96% == 4% Loss.

e

Thank-you So Much, Sir Ji.. = _
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Swati Pandey 1 hour ago

4% loss
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Pragya Chaubey 13 hours ago
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Q:- HW - If a shopkeeper marks the price of goods 60% more than their cost
price and allows a discount of 40% what is his gain or loss percent?

A2 IS THTER TXGHAT UL THT T W 60% 3Tereh v 3iferd HLar & R 40%
<1 TE AT &, AT IRT ATH AT T JTA9Ta {ehaT 82

(A) 4% profit/cTTH
(B) 4% loss/T
(C) 6% profit/cTTH
(D) 6% loss/BT
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Q:-1. A path of S m in width is made on the inner part of the fence of a
rectangular field. If the length and breadth of the field is respectively 18

m and 15 m then find the area of the path.
Teh ATTATHT T h TRT SR A A FHT E A AT 5 /AT AN T 712 |

Ife @ & T aTE, SIS HAYT: 18 . 31 15 . 21 a6 41T &7 S%et 71

it |

(A) 330 sq. m. /3T H.
(B) 240 sq. m. /3T H.
(C) 220 sq. m. /3T H.
(D) 230 sq. m. [ H,
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Q:-2. If the area of the in-circle of a square is 16TT ¢m.?, then what will

be the area of the square?

IS Teh 1 o I T hT LA 16TT VW2 7, AT S T QIHET FT ST 2
(A) 64 cm.”

(B) 81 cm.”

(C) 100 cm.’

(D) 36 cm.”




Q:-2. If the area of the in-circle of a square is 16TT ¢m.?, then what will

be the area of the square?
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Q:-3. Anupam invests Rs.50000 in a bond which gives interest at 3% per
annum during the first year, 5% during the second year and 8% during

the third year. How much amount does he get at the end of the third

year?

TR 50000 F. W& 7T T 397 Fer & A Ut A 3% Tfaad R,

TE AT 5% TFrad shl & H R A6 T 8% T shi & ¥ SATH I 51
AT 9 & 3tq | 39 fRat gyt e

(A) Rs. /. 58104

(B) Rs. /. 58140

(C) Rs. /. 58410

(D) Rs. /. 58401




Q:-3. Anupam invests Rs.50000 in a bond which gives interest at 3% per
annum during the first year, 5% during the second year and 8% during

the third year. How much amount does he get at the end of the third

year?
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Q:-4. Two trains of lengths 300 m and 360 m respectively are running in

opposite directions on the parallel tracks. If their speeds be 100 km/hr and 116

km/hr respectively, in what time will they cross each other?
r Yermiteat et evargat sAen: 300 W 3R 360 Wi &, FHTR ol 0 e T 6
forodier oo o Stg & § | afe ekt ria=t seweT: 100 fertt./geT X 116 foru. /e

2 [T feRe= Twa W o Teh S 1 TR T &AT12
(A) 22 seconds/ UchUS
(B) 15 seconds/ UchUg
(C) 11 seconds/ UhUS
(D) 12 seconds/ UchUS
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Q:-5 The income of A, B and C are in the ratio 3 : 7 : 4 and their expenses in

the ratio4 : 3 : S. If A saves Rs.300 out of an income of Rs.2400, the sum of

savings of B and C is
A, B 3R C T ATTH ATUTA 3 : 7 : 4§ 3T Ik @Al § ATAUTT 4 : 3 : 58| AR A,
%.2400 hT AT H T 5.300 shl TAA HIATE | B AR C hl Tad hT ANT § |

(A) Rs.4600
(B) Rs.4200
(C) Rs.4275
(D) Rs.4475




Q:-5 The income of A, B and C are in the ratio 3 : 7 : 4 and their expenses in
the ratio 4 : 3 : 5. If A saves Rs.300 out of an income of Rs.2400, the sum of

savings of B and C is
A, B 3R C T ATTH ATUTA 3 : 7 : 4§ 3T Ik @Al § ATAUTT 4 : 3 : 58| AR A,
%.2400 hT AT H T 5.300 shl TAA HIATE | B AR C hl Tad hT ANT § |

(B) Rs.4200
(C) Rs.4275
(D) Rs.4475




Q:- 6- In an election between two candidates, 10% of the voters did not cast
their votes while 10% of the vote polled were declared invalid. If the winning

candidate got S4% of the valid votes and won by 1620 votes then find the total

number of voters in the voter list.

I ITHIARI o S Tk TAT |, 10% HASTATST = 37U AN &1 ST, Al Toh HAGH

& 10% Ha A Aiiva fru 7o) Ife foasrt ITiear &l 54% 34 1 fier 3T 1620
it & forereht gu, A AaqTar Je § et aaaTareit s Eil

(A) 25000

(B) 33000

(C) 35000

(D) 40000
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Q:- 7- A person sells an article at a profit of 10%. If he had bought the article
at 5% less cost and sold for Rs.80 more. He would have gained 20%. The cost

price of the article is

Teh STk 10% °h ATH U Ueh oI aedT 2l 3T 38 5% hH chiWd U o T©HIET
9T 37X Rs.80 3T12rek W T o1l I8 20% ST TIEIET FHT BTN T S 0T 06 &
(A) Rs.3200
(B) Rs.2500
(C) Rs.2400
(D) Rs.2000




Q:- 7- A person sells an article at a profit of 10%. If he had bought the article
at 5% less cost and sold for Rs.80 more. He would have gained 20%. The cost

price of the article is

Ueh SR 10% °oh AT UX Ueh oI aerdT gl 3R 38 5% ¥ Shidd W i TeT
oI 3T Rs.80 ATk T =T AT| SH 20% T WIEET FHT EWTT| TG <hl IRT Hed &

(A) Rs.3200
(B) Rs.2500
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Q:- 8 - 20 litres of mixture contains milk and water in the ratio of 3: 1. Then

the amount of milk to be added to the mixture so as to have milk and water in

ratio5: 1is ?

20 e frsror @ 3: 1. % SIFuTa W g4 R AT Brar 21 foRe forsror 7 o <y wrem w6t
THeTTaT STt @ dfeh 3101 5: 1 6 g8 S AT 8t 2

INE

(B) 10
(C) 12
(D) 15
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Q:-9- Ifp,q,r,s,t are five consecutive odd numbers, their average is

IiEp, q,r,s, t Tl ShATTA [O9H WEATU &, SHhT ATEd 8

(A)S(p+4)

B) ptqt+tr+s+t)
(OS(ptqt+tr+s+t)
(D)p +4
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Q:-10- A boat rows downstream 21 km in 105 minutes and upstream in 180

minutes. What is the time taken by the boat to travel a distance of 323 km in

still water?

Teh ATel SATIETE | 21 Tohtil shT i 105 T 0 31 Siea e 0 180 fire 0 a7 et
2 | 9T ST | 323 ToReit o1 ot 7 ot o6 Torg A g fora wram wwa w22

(A) 14 hours/Ee
(B) 24 hours/si¢
(QRZ. hours/&e
(D) 44 hours/E<
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Q:-11- Ifa+b=1,b+c=2andc+a=23, then the value of (a’> + b*>+ ¢’ + ab
+ be + ca) is —

gea+b=1,b+c=23Rc+a=3T,dal (a?+b>+c?+ab+bc+ca) FTHATAE —
(A) 3.5

(B) 18

(C) 7

(D) 9
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Ques-12- If sin( x + 34%) = cos x and (x + 34° ) is acute , then find the
value of x ?

Qﬁsin( X +34% = cos x Bﬁ'{(x + 34" )Wﬂ%,ﬁxwmmaﬁﬁq

(a) 36
(b) 46
(c) 28
(d) 56
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Ques-13- Evaluate cos 1° cos 2° cos 3°
179° cos 180°.

FTa R cosl’ cos 2° cos 3°

(a) 1
WAL
(c) 2
(d)3




Ques-13- Evaluate cos 1° cos 2° cos 3°
179° cos 180°.

FTa R cosl’ cos 2° cos 3°

(a) 1

(c) 2
d) 3
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QQ:- 14- The acid and water in two vessels A and B are in the ratio 4: 3 and 2: 3.

In what ratio should the liquids in both the vessels be mixed to obtain a new

mixture in vessel containing half acid and half water?
AT A 3R B | 31T qT UT=T ST AT A 4 : 3 3R 2 : 3 FAUTAH g
ASTAR 37 THYUT | C T | Tk TAT FH007r TaR &6 & o710 372 fohe srqama &

T =te, arfer AU THSIuT | S1veT 3R UTHT Shl WTHAT ATE-SATEM BT |TU?
(A)7:5
(B) 5: 7
(C)7:3
(D) 5: 3
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QQ:- 14- The acid and water in two vessels A and B are in the ratio 4: 3 and 2: 3.

In what ratio should the liquids in both the vessels be mixed to obtain a new

mixture in vessel containing half acid and half water?
AT A 3R B | 31T qT UT=T ST AT A 4 : 3 3R 2 : 3 FAUTAH g
ASTAR 37 THYUT | C T | Tk TAT FH007r TaR &6 & o710 372 fohe srqama &

ToreTT TTfeu, avfeh AU THSI0T W ST 3T UTHT Shi HTAT SATE-SATE &1 SITu?

(B) 5: 7
(C) 7: 3
ER




Q:-15. The shadow of a tower is\/3 times its height. Then the angle of
elevation of the top of the tower is

Forelt @Y ot BT SEeRY ST A V3 T 1 AW T Fafg I wor
AT hl?
(a) 45°

(b) 30°
(¢) 60°
(d) 90°
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Q:-15. Find the lowest common multiple of 24,36 and 40?
34T: 24, 36 TAT 40 HT THTH FHATITAH T Tl ?

(a) 240

(b) 260

(¢) 360
(d) 320
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34T: 24, 36 TAT 40 HT THTH FHATITAH T Tl ?

(a) 240

(b) 260

(d) 320







